
Crack the Code
Use the secret code to work out which of your spelling words are which!

3 1 14 20

13 18 199 20 19

19 8 15 21 12 4 14 20

4 9 4 14 20

23 1 19 14 20

3 15 21 12 4 14 20

a b c d e f g h i j k l m

1 2 3 4 5 6 7 8 9 10 11 12 13

n o p q r s t u v w x y z

14 15 16 17 18 19 20 21 22 23 24 25 26

Spelling | Year 2 | Term 3A  | Week 4 

Tick off the spellings that you have cracked the code for. Add the apostrophes where they are needed.

couldn’t hasn’t Mr it’s didn’t

cannot shouldn’t wouldn’t wasn’t Mrs

Which words have you not ticked off? Write each word and its code numbers here. Can you put one in 
a statement and one in a question?

Challenge Task

Statement:

Question:

Word:

Code numbers:

Word:

Code numbers:



Crack the Code Answers
Use the secret code to work out which of your spelling words are which!

c a n t
3 1 14 20

M r s
13 18 19

i t s
9 20 19

s h o u l d n t
19 8 15 21 12 4 14 20

d i d n t
4 9 4 14 20

w a s n t
23 1 19 14 20

c o u l d n t
3 15 21 12 4 14 20

a b c d e f g h i j k l m

1 2 3 4 5 6 7 8 9 10 11 12 13

n o p q r s t u v w x y z

14 15 16 17 18 19 20 21 22 23 24 25 26

Which words have you not ticked off? Write each word and its code numbers here. Can you put one in 
a statement and one in a question?

Challenge Task

Tick off the spellings that you have cracked the code for. Add the apostrophes where they are needed.

couldn’t hasn’t Mr it’s didn’t

cannot shouldn’t wouldn’t wasn’t Mrs
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Statement:

Question:

Word:

Code numbers:

Word:

Code numbers:

Spelling | Year 2 | Term 3A  | Week 4 

hasn't

8, 1, 19, 14, 20

wouldn't

23, 15, 21, 12, 4, 14, 20

Why hasn’t Gemma done her homework?

The door wouldn’t open so I pushed it even harder.


